AF-4016

B.Com. (Part - II)
Term End Examination, 2017-18

Group - A
Paper - 1

Corporate Accounting

Time : Three Hours] [Maximum Marks : 75
de gt Tl F S AW et T F s
peic i
Note : Answer all questions. All questions carry equal
marks.
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(2)

What is Debenture ? What are the various
methods of Redemption of Debentures ?
Explain.

37g4r / OR

o

emge fafiee 3 10 9l 20000 HHAT
sieil w1 s fean St f79 goR <3 e

e W T2 ; AW W T3 ; YYH A=A
R T2 WE 3<H Il W T 3|

15000 FHaT ¥ % AT STEEH-9F I U
TSepT 3Treied o T 7| Semerehl 3 sif<m
AT T Ul AL @R 500 e W gem
I H ART B BISHL THE AT
TR 9Tt 81 TS| g SR 1 e feRAn W
3R T7 gha! 3w & w9 H ¥ 5 yha W
H R Y AT T T SHe gfafseat
gt qur st s fRufa faexo (fagn)
TR

Newlite Ltd. issued 20000 Equity Shares of
¥ 10 payable as under :

On Application ¥ 2; on Allotment ¥ 3; on
First call ¥ 2 and on Final call ¥ 3.
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(3)

The public applied for 15000 Equity Shares
which were alloted. The Directors did not
demand for the final call amount. Amount
received against all called on shares except
the amount for the First call on 500 shares.
These shares were forfeited and reissued as

¥ 7 paid at the rate of ¥ 5 per share. Give

Journal entries and prepare Balance Sheet of
the company.

1S / Unit-11

2. & WAl o ‘Afw @il 9 9 o e
£?2 AY-8M @ 99R w9 & fau e
Atufm & fafy= geuml =1 9uE e |

What do you understand by ‘Final Accounts
of a company? Describe the various
provisions of the Companies Act to prepare
profit and Loss Account.

37g4qr / OR

1 SHE, 2017 & B YA Ao 1 Ufesw
THEOE g3 ERe i gwtadi & fasa
T 3% SAVLMRAT I &l T AR T 2%
TReHE faerm | R 3 A S TE
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Tofqar 9= S 1 SHad, 2017 Rl HEIE]
= Tgfa F=yeR o .

?
Tl I fosel W Ashe 9@ 7,00,000
GHYA = 12,600
ER (T HE 1 dad T 8,400
wfgd) 95,200
7000, 6% UAMYRR A Teh
730 &1 (9 W = ad @
U S ) 2,10,000
14000 HHAT 379 Y& T 10
H1 gk W TO Igfed AR
e fer MU g 1,26,000
gH= 99y 1,68,000
Y-8 @ran 28,000

HIH o Ug AHEH h FTIR YATHRR
ol s gHar e Ui YIaE e
% 9] Sd gs Ui # 9 us-fagE ufw
U T N AHER ¢ FTEres w1 At
foeRor @l AT |
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Funny Fashion Ltd. went into voluntary
liquidation on 1st January, 2017. The
liquidator is to be paid remuneration at 3%
on the amount realised on sale of assets and
2% on amount distributed to shareholders. The
liquidator sold out all the assets of the
company on Ist January, 2017. Company’s

position was as under :
?

Cash realised on Sale of Assets 7,00,000

Liquidation Expenses 12,600

Creditors (Including salaries for
one months ¥ §,400) 95,200

7000, 6% Preference Shares of
¥ 30 each (On which dividend is

in arrear for one year) 2,10,000

14,000 Equity Shares of ¥ 10
each ¥ 9 per share called and paid 1,26,000

General Reserve 1,68,000

P & L Alc 28,000
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The Preference Shareholders have the right to
receive one-third of the balance amount after
amount paid of Equity Shares according to
the Memorandum of Associations of company.

Prepare Final Account of the liquidator.

Th1e / Unit-111

3. 39l & YK Hl AEARAT T oA
=1 fafy= ot &1 9o sifsw)

Describe the requirment and different methods
of valuation of shares.

37g4qr / OR

freafafed gaamsl & TR W @fd &
qedish feeny fafe (WURo we qRgEH)
ﬁﬁlﬁﬁm:

q) AUR H fHaifsa iiEa gt ¥ 3,60,000 |
(a) ES

() ®H W TU=el 99 a6l & A& v
TG YHR 9 :

¥ 64,560 ; ¥ 54,420 Wd ¥ 67,5001
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R 12 JfaeE giqa |
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(d) FEER @ ST Farsdl & giawra w@e
Sfaa wiRgfaer 77,200 aiftier 1 818t
T A-BIM @A § TS T81 fohan
TR

From the following information calculate the
value of goodwill by superprofit method
(Simple and weighted) :

(a) Average Capital employed on the business
is ¥ 3,60,000.

(b) Net Trading profit of the firm for the past
three years were ¥ 64,560, ¥ 54,420 and
¥ 67,500.

(c) Rate of Interest expected from capital

regard to the risk involved is 12 percent
per annum.

(d) Fair remuneration to the partners for their
service ¥ 7,200 per annum nat charged to
Profit and Loss Account so far.

Ta1e / Unit-IV

4., FHTE F THIHO T Y F THIA © ?
Tk 3T HA Ufawal &l AT fhd YR
& S ®?
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What do you mean by Amalgamation of
companies ? How purchase consideration is
determined under these ?

37g4qr / OR

1 ofdd, 2017 & A fafes w1 fum
(Tearfdferertor) f=gER o :

Tgaed | ufw | wwefwar | ofd

(%) (%)
TiiRd eIk 55,000
frifeq oo st fafay et 1,64,500
5000, 12% Wedt LEX] 500
SAHE  (EifER) Y- @ 30,000
W TAF T 10
Tehdl 50,000

15000 TTERT 3,
e T 10 0 g | 1,50,000

10% T 30,000
TR (SfYEH

3 W 4 a9 9
9 TRT YR T 20,000

2,50,000 2,50,000
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T QAAAT w A= T Ao @@ &

TS

(@) T € w1 B fafies o T e
Wifeha gsit ¥ 3,25,000 ¥ 3R S 710
¥ wmon st # A4 gd #

(b) T HEAT T Teh AR I} T 5 IR,
TH FOA F TH RO AT F G
4 frifaa feen T

(¢) T2 HE & T WERU A7 T 5 IR,
T RN ok Tk IUHE 39 & Wed
frifga few @)

(d) 7 FHMW T AT H TG HA 7

(e) RUGHHRAT I 5 At ¥ 3000 qof
AT GIUROT Y | HA R

(/) TGR & HAl §RI fow e |

(g) Y9 7 Ydafela fhu U 3i9 Hamerhl gRI
o fou SEd fSFdr 9 @@ e w1
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(h) T8 HFA QAT ®wEA @ fafay et
I ¥ 35000 H HH Hh |
a5 A Tafiee &1 gl @ 9=
Hify den B fatice @t gl &l
@i |

On 1st April, 2017 the Balance Sheet of A

Ltd was as follows :

Liabilities Amount Assets Amount

(%) (%)
Authorised and Goodwill 55,000
Issued Capital : Sundry Assets 1,64,500
5000, 12% Camulative Cash 500
Preference Share of Profit and Loss A/c 30,000

¥ 10 each fully paid 50,000

15000 ordinary shares
of ¥10 each fully paid | 1,50,000

10% Debentures 30,000

Creditors (Preference
Dividends in arrears

for 4 years) 20,000

2,50,000 2,50,000
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A scheme of reconstruction was agreed upon
as follows :

(@) A new company to be formed -called
B Ltd. with an authorised capital of
¥3,25,000 all in ordinary shares of ¥ 10

each.

(b) One ordinary share, ¥ 5 paid ; in the new
company to be issued for each ordinary

share in the old company.

(¢) Two ordinary shares of ¥ 5 paid in the
new company to be issued for each

Preference Share in the old company.
(d) Arrears of dividends to be cancelled.

(e) Debentureholder to receive 3000 ordinary
shares on the new company credited as
fully paid.

(f) Creditors to be take over by New
Company.

(g) The remaining unissued shares to be
taken up and paid for in fully by the

Directors.

150 BSP (15) (Turn Over)



(12)

(h) The new company will take over the old

company’s assets subject to writing down
‘Sundry Assets’ by ¥ 35,000.

Close the books of A Ltd. and open the books
of B Ltd. by means of Journal entries.

T&1e / Unit-V

5. AfhT HEA F TAH-TIF WA T T G
T TEH TAF IMUE HI WYY H U |

Give the specimen of a Banking company’s
Profit and Loss Account and explain its each
head in brief.

37g4qr / OR

fr=ifora oz faem fao W& g&mr fdo &
feafg foeror 31 WM, 2015 & Yhe Hd
g

Trfa fowrg | www | gl fowmm | o
oo oo oo &0

31 ST 7 10 TRt
o 9§ [2,00,000 | 50,000 | wEAtEET 1,95,000 | 70,000

YT Iy 50,000 | 20,000 | faft@m (wermar
oo o 7w #)| 60,000 —
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"

HIRC] @ | yomw faem@ | gam™
oo oo oo &0
TI-FI @
1.4.2014 30,000 | 7,500 | TR 35,000 | 25,000
2014-15
I 50,000 | 20,000 | =i (W) | 20,000 | 10,000
TR 20,000 | 10,000 | &7 =]
wrgfEr 40,000 | 2,500
3,50,000 [1,07,500 3,50,000 {1,07,500

I g freEgEr €

(a) Taem® fao 7 30 fqam=R, 2014 &I Y
fdlo oF 4000 3% 15 Ufd & W A
g feT 9|

(b) YWl fdo & Wiw (W) H ¥ 7,500
1 AT WA & S 3E o feo @

e a1 fae™m fdo A9 A NI

T 25% @9 SR =l T

() IHET fdo & Tierl # fawm folo @t
T 5,000 WMHA T |

3MYeRT ST91 TUATE fe@m gT 31 W, 2015
% Tfha fagT TUR e B
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The following Balance Sheets of Vikas Ltd.

and Prakash Ltd. shows their positions as on
31st March, 2015 :

Liabilities Vikas | Prakash Assets Vikas | Prakash
Ltd. Ltd. Ltd. Ltd.
Share Capital
Share of ¥ 10 each [2,00,000| 50,000 Fixed Assets 1,95,000| 70,000
General Reserve 50,000 20,000| Investment(in Shares
of Prakash Ltd.) 60,000 —
Profit and Loss A/c
on 1.4.2014 30,000]  7,500] Debtors 35,000| 25,000
Profit for 2014-15 | 50,000 20,000{ Stock 20,000| 10,000
Creditors 20,000| 10,000 Other Current Assets| 40,000] 2,500
3,50,000] 1,07,500 3,50,000]1,07,500
Other informations are as follows :
(a) Vikas Ltd. purchased 4000 shares of

Prakash Ltd. on 30th September, 2014 at
¥ 15 per share.

(b) Stock of Prakash Ltd. includes goods
worth ¥ 7,500 purchased from Vikas Ltd.
Vikash Ltd. sells good at 25% above cost.
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(c) Debtors of Prakash Ltd. include ¥ 5,000
due to Vikas Ltd.

You have to prepare consolidated Balance
Sheet as on 31st March, 2015. showing your
working.
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